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QUESTION BOOKLET

This question paper contains 170 questions. / 38 J%1 9 H170 5 & |
All questions are compulsory. / Gt 337 31f4a £ | .
One question carries half mark only. / T I4 o T shaet 3mmen 37k 2 |

Maximum Marks : 85 ATIHaT 37 : 85
Time : 2 Hours auy : 2 °ue
1.  Which drug should be used for rinsing the syringe before taking blood

sample for A.B.G analysis ?

(A) Adrenaline (B) Dobutamine (C) Dopamine (D) Heparin
A.B.G foweivu & foiu ™ T oF & 98l g8 ! 94 o T foherent S=mT s
=MfEy ?

(A) T (B) Sgem  (C) sMWiE (D) #fE

The position used for most of the gynaecological procedures is

(A) Lithotomy position (B) Supine position E4E

(C) Prone position (D) Sims’ position o
JTTIRTST TG oTehel TSRS o foTt Ty ferfa 8

(A) fauend feafa (B) gueafeafa (0) wmferfa (D) foa feufa

ICDS (Integrated Child Development Services) programme was launched in
the year

ICDS (Fufera aTet forehra Tamd ) shrishn forer o sy fepan w2

(A) 1970 (B) 1975 (C) 1992 (D) 1995
Which of the following drugs causes EPS (Extra Pyramidal Symptoms) ?
(A) Antipsychotics (B) SSRI
(C) Mood stabilizers (D) Anti-anxiety drugs
= o @ oo = 3wl EPS (were furfireet fawoew) smifca et 8 2
(A) TEOTIhifead (B) SSRI
(C) TE RfTamssR (D) TH-T=Ed o
With which of the following, the “Indradhanush Scheme is associated with ?
(A) Sanitation (B) Immunization
(C) Mid-day meal programme (D) All of these
“Fgay A T 1 9 fopmg aafa g 2
(A) o=l (B) dfaeefientor
(C) TEATE WISH HIshH (D) 3 asft
3 Code No. : C-733/2021/Series-A
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6.  Simplest form of thinking is

(A) Abstract thinking (B) Logical thinking

(C) Creative thinking (D) Perceptual thinking

FI= o1 TXeTad &9 8

(A) 3 o= (B) dTfeheh famaa

(C) GsHTcH Fa=m (D) suTeHsh fa=
7.  Platelets are a source of

(A) Fibrinogen (B) Calcium

(C) Thromboplastin (D) Haemoglobin

ferTTo] 396 &G &

(A) ®EsHSH  (B) <hfeaad (C) drTieed (D) gHraifsq
8. In which defense mechanism one make excuse giving a reason different

from the real one ?

(A) Projection (B) Rationalization

(C) Displacement (D) Reaction Formation

Tora TeaTeen wfdfsha § IS amafce ¥ i HRoT ¢d §U SgHT ST & 7

(A) J&T (B) Afpshieptor  (C) fereammm (D) wfafsran fFmior
9.  Most effective way to prevent bed sore in bedridden patient is

(A) 2 hourly position change (B) Daily bed bath

(C) Avoid moisture (D) Maintain good nutritional status

IR WIS H ST ITe o foTe waiferes Tt adient & —

(A) < gvei | feafd agemn (B) <k -

(C) =i 9iER (D) 37T TN & ST TG
10. What is the incubation period of tetanus ?

(A) 5 days (B) 10 days (C) 20 days (D) 25 days

fezta o fotu oA safy 8 -

(A) 5f= (B) 10fe (C) 20fe (D) 25fe
11. Anunpleasurable reaction to an imagined danger is

(A) Ambivalence(B) Apathy (C) Anxiety (D) Phobia

ST S = fd IS Tfalshan &

(A) U= (B) weft (C) T=msed (D) wifer
Code No. : C-733/2021/Series-A 4
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The type of cyanosis seen in PDA is

(A) Differential cyanosis (B) Central cyanosis
(C) Peripheral cyanosis (D) All of these

PDA H fe@ré 3 aret areifas &1 Y 2 —

(A) Taud aemiteE (B) 5 SRAIHE
(C) uftefsr araaifasm (D) 37k @it

The immunoglobulin that can cross the placenta is
SRIANCIS (T 11 WE=CT ol Shi L Tehdl & —

(A) IgA (B) IgM €) IgG (D) IgE

In which type of solution does the fluid shift from tissues to blood ?

(A) Hypotonic solution (B) Hypertonic solution

(C) Isotonic solution (D) None of these

fope TehR o o B TRet ek o T b fareenfua gran g 2

(A) ITeqqUETd foe=m (B) Afaquuemd fae=m

(C) THRET foreram (D) T O His T&l E3E
ol

The normal value of serum lithium test is
Hiw fftrm e wram= g 8 —

(A) 0.6 - 1.2 mmol/L (B) 0.10—3.2 mmol/L
(C) 1-1.8 mmol/L (D) 1.2-2.2 mmol/L

Which of the following code is associated with cardiac arrest during medical
emergency ?

(A) Code Black (B) Code Blue (C) Code Green (D) Code Red
= o @ & @1 FIg fFafera s % SRA qUigglY (FIfSsts ) &
TR R 7

(A) ®EHEM  (B) ®eHem (C) HEEQ (D) i ATA
Fetal Monitoring machine is used to

(A) Record heartbeat of fetus.

(B) Record respiratory rate of fetus.

(C) Record contractions of mother’s uterus.

(D) Both (A) and (C)

o1 Tl Wi TEfiv T SEnT g 2 -

(A) U1 61 ZeT H gSH i i & forg

(B) U1 ! va& ¥ Tehie & o foru

(C) HTdT o IR o Hepa ol ehie A o foTy

(D) (A) 3R (C) g
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All of the following are the benefits of KMC (Kangaroo Mother Care), except
(A) to maintain temperature of the baby.

(B) to promote bonding between mother and baby.

(C) to stimulate the hormones like prolactin, oxytocin.

(D) to increase the hormones like growth hormone.

= @ft KMC (7T% 7t 3h2) & oy 8, Taam

(A) 39 =1 AU SATC T & foe

(B) Hmal 3R 9] < off= s7eH . s @ fofw

(C) Yitfee, SATafiria S8 g < LU S & fotw
(D) Jfg MM S BHHI Sl §@H o [T

Anganwadi worker is supervised by

(A) Mukhyasevika (B) Male health worker
(C) Both (A) and (B) (D) None of these
AT Tt 38 g A ferd gid @

(A) gerHfaeh (B) &Y Ty St
(C) (A) IR (B)Hi (D) T4 & HIE T

One can tolerate frustration because of the function of

(A) Id (B) Ego

(C) Superego (D) Oedipus complex
o T3 o HIUT Ueh SATeh RIS bl W8 Heha B |

(A) 3 (B) 31Eq (C) weq, (D) #reid

Tapping over the facial nerve cause twitching of the facial muscles, it is
known as

(A) Chvosteks sign (B) Trousseau sign

(C) Homans sign (D) Trosse sign

gL I TR T % T =ret Y U | THOT B 7, T8 HEATd & —
(A) mwFafas (B) i g (C) emEfas (D) gufs

500 ml of IV fluid need to be administered over 5 hours, with drop factor
20, calculate drops/min.

(A) 32 drops/min(B) 33 drops/min (C) 34 drops/min (D) 35 drops/min
500 ml TV % 31 20 S9 Sheret o |11 5 Guel § 31fereh doh o1 8, i/ fme Tom
HITT |

(A) 328M/fAe (B) 33gf/fe (C) 34gf/fAe (D) 35gfu/fe
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Highest level of need according to Maslow’s hierarchy is

(A) Physiologic needs (B) Safety and security
(C) Love and belongings (D) Self-actualization
HTEAT o USTshH % STTER STETIehd] i Taiel TR g —

(A) RITER JTEvashard (B) =<TE W& L&l

(C) U9 3R TIEre (D) -

The traction used for cervical spine injury is

(A) Skin traction (B) Halo traction

(C) Skeletal traction (D) All of these

e Feevs =1e o foTT Tk Sur @ —

(A) ©ETHYT  (B) gAIHYT  (C) A FHE (D) 3 @

Chhaya oral contraceptive pills (OCP) is
(A) Non-hormonal and non-steroidal (B) Hormonal and steroidal
(C) Non-hormonal and steroidal (D) None of these

BT 3R TR Tt (OCP) & —
(A) T g 3R 7 ERissa (B) B 3TN &RissH
(C) = e 3R ERigsd (D) Ig &t EE

Oy

.EI.!
The site of intramuscular injection in infant’s is

(A) Anterolateral portion of vastuslateralis thigh muscle
(B) Posterior portion of vastuslateralis thigh muscle

(C) Lateral portion of vastuslateralis thigh muscle

(D) All of these

T3re) o 31 Ui SolaR 1 WA § —

(A) UTvd gefeeht 3% Usft o samd fem

(B) UT¥d gRicent 3% Uil o U8 e

(C) uTed Fafcent % Usit < urvd feed

(D) 39k Tt

Emergency treatment for cocaine toxicity seeks to stabilize
(A) Kidney functioning (B) Body temperature
(C) Heart functioning (D) All of these

&I fer v & foTu shih ferTehdT st 3TdTaehIen= Su=R fomarn SaT 2 |

(A) gRhHE  (B) WRAWHH (C) w@FE (D) waf
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Which of the following day is celebrated as World Anti-Tobacco Day ?
(A) 11" July (B) 31%May  (C) 7™ April (D) 5% June
o= 1 @ fopm fem b farwar e vy feam & s O mAR ST 2 7

(A) 119 (B) 317 (C) 738 (D) 5@

The defense mechanism regression means
(A) To behave in an anxious manner.

(B) To interrupt in thinking process.

(C) To be a mature way.

(D) To revert to childish level of behaviour.
ek Widfshat Sferme ot 319 & —

(A) To=amre @l o SHagR & (B) Ta= ufskan o aren grem < fotw
(C) uftuea alteh o (D) 9TeT &R SR § Al

Method used to assess urine specific gravity

(A) Urinometer (B) Reagent strips
(C) Refractometer (D) All of these
= 1 fafire oca faifa s o foe s fafa 8

(A) gt (B) fo=e®W  (C) fobwmfter (D) agasfi

Location of auscultation for apical pulse is

(A) 5™ intercostal space at the right mid-axillary line
(B) 5" intercostal space at the left mid-clavicular line
(C) 5™ intercostal space at the right mid-clavicular line
(D) 5™ intercostal space at the left mid-axillary line
i 1t 3 fore wfesraror <1 fefa 2 —

(A) TR He-hefta @ W 5aT ST=ausshl T

(B) SRff e -STeh (@1 W 5aT ST<assh! T

(C) TR Tea-Tehi [T W SaT T=aIgieh! TIH

(D) S ger-hefa {@1 W 59T ST=Rash! T

Largest immunoglobulin is
g ST SRS & —
(A) 1gG (B) IgM ©) IgA (D) IgE

Code No. : C-733/2021/Series-A 8
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Phagocytosis is considered as which line of defense against infection ?

(A) First line defense (B) Second line defense
(C) Third line dpfense (D) Fourth line defense
TSI 8 ol WhHYT o foreg fopd Ufeh <t wferem A ST @ 7
(A) 9¥H Yfth Tfeeen (B) fecitar uft wfean
(C) = ufch fered (D) =g ufck wfcre
What is the antidote of narcotics ?

(A) Naloxone (B) Flumazenil

(C) Digibind (D) Atropine sulphate

Tk bl T Teheh T & 7
(A) AEEdH (B) wENMA (C) INamus (D) TS Hothe

A 27 years old female, 16 week pregnant has 2 years old twins, who were
born at 39 weeks gestation and a 5 year old who was born at 40 weeks. She
had no history of abortion, what is her GTPAL score ? ‘

ush 27 afta afgen, 16 guTg i misdt 8 R 2 9 & Sgai 9= &, S 39 9918
61 TTTaly § e gU Y 3R TH 5 9¥ 1 B ST 40 THTE H UST §I AT | ITHI D5
THOTT ST STETE 81 o7 | 36T GTPAL TR &1 8 ?

(A) G=3,T=1, P=0, A=0, L=3 (B) G=3,T=1, P=0, A=2, L=3

(C) G=3,T=1,P=2, A=0,L=3 (D) G=3,T=1, P=0, A=0, L=2

When does the infants” weight get double in relation to birth weight ?
(A) 5 months (B) 8 months (C) 10 months (D) 12 months
T3] <1 S5 S STH IS I GTFT &I AT 3 7

(A) S5HIE (B) 84 (C) 10HRE (D) 12918
Paranoid thoughts are described as E4E
(A) Hallucinations (B) Delusions P
(C) Illusions (D) Anxiety disorders
Hfayeft feramor 3@ w9 ¥ Tftfa foey ma &
(A) Tayw (B) wrf=d (C) ¥| (D) Tt fasr
Which of the following viral infections is transmitted by tick ?
(A) Japanese Encephalitis (B) Dengue fever
(C) Kyasanur Forest disease (D) Yellow fever
e ® | S = fawTors Fsrmor fohert (Sih) g s giaT g ?
(A) ST AieTsReYg (B) SIS
(C) ITHT BRE T (D) i R
9 Code No. : C-733/2021/Series-A
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39. A patient with liver problem develops edema because of
(A) Fall in oncotic pressure (B) Increase in hydrostatic pressure
(C) Fall in osmotic pressure (D) Rise in osmotic pressure
Fehd FHEIT Il WA T A1 skl g o1 HRoT 8 —
(A) 3TT=hifeeh gre | it (B) TRERLfEH T 1 dfg
(C) 3rremiesh gra | St (D) SATeHIceh gF Halg
40. The most common deficiency seen in patient with chronic alcoholism is
(A) Thiamine (B) Cyanocobalamin
(C) Niacin (D) Vitamin C
FaenTieTes HeTea™ aret Wit # oS < areft we® am= it 8 —
(A) U=EHF (B) TRARREATEH(C) f3md= (D) Toerfi= C
41. Cidex is also known as
(A) Formaldehyde (B) Gluteraldehyde
(C) Korsolex (D) Hypochlorate
T3S ohl 39 W ST 11 8
(A) wiHifceese (B) woeUfcgee (C) @i (D) BEUEING
42. Second heart sound S2 indicates closure of valve.
(A) mitral and tricuspid (B) mitral and pulmonic
(C) aortic and pulmonic (D) tricuspid and aortic
fgdta ggeafq S2 JTed shl T I Frod H 8 |
(A) Toshucl i frepudt (B) Tgepudl 3T Hwpel
(C) waETgH{® X GFHE! (D) Trepudt 3R HETaHf
43. Chemical components of MALA-D are
(A) D-Norgestrol and Ethynl Oestradiol
(B) D-Norgestrol and progestogen
(C) Progestogen
(D) Norethisterone Acetate
TTAT-E1 h TETAH Th &
(A) DTSR 3R TlMe NS
(B) D-ATGREIA 3R TSR
(C) WSS
(D) TR TEice
Code No. : C-733/2021/Series-A 10
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The type of delusion most commonly seen in manic patient is
(A) Delusion of guilt (B) Delusion of grandiosity
(C) Delusion of persecution (D) Nihilistic delusion

Tafera ooft 4 waiferes g w9 @ fewrE 2 9T Y9 T YRR g —
(A) qYHYE (B) d=aryd  (C) Iafiedyw (D) ARG WH
Break bone fever is also known as

(A) Malaria (B) Dengue (C) KalaAzar (D) Q fever
B! Al S ! 398 o STH1 ST @

(A) HAfE (B) 2 (C) HAT-3ER (D) Q-5
Missed abortion is also known as

(A) Complete abortion (B) Inevitable abortion

(C) Silent miscarriage (D) Septic abortion

3FerTferd efuTa i g oft et T

(A) QI (B) STUNER MU (C) ToSA T (D) qfd e

Which of the following changes are seen in ECG reading, in patients with
hyperkalemia ?

(A) Tall and peaked T wave (B) Shortened QT interval

(C) Prolong PR interval (D) All of these
BT el Wit # ECG UeA § fra & & v @ uftada femg ¢a 8 7
(A) o=t Td Jehietl T o (B) &9 QT 3=l

(C) <rd PR 310t (D) ¥ @ s
Classical dengue fever is transmitted by e
(A) Aedes mosquito (B) Culex mosquito

(C) Anopheles mosquito (D) Mansonoides mosquito
FATEheT 7] o 38eh gIT TaLd aIdl &

(A) TEN 7= (B) RITH T

(C) TATRIeAST Teat (D) BIESS H=sX

BMI (Body Mass Index) is also known as

(A) Quetelet Index (B) Brocca Index
(C) Corpulence Index (D) Lorentz Index
BMI (SR R F=hIeh) i 384 i 1 1 8

(A) fFcoeseam (B) S ged  (C) el s599 (D) TR~ g8

11 Code No. : C-733/2021/Series-A
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50. [Ishihara chart is used for the assessment of
(A) Night Blindness (B) Colour Vision
(C) Both (A) and (B) (D) None
feperep frrafeor 3 forg Sefter = ot s fepan e @ 2
(A) Tteh (B) @i
(C) (A) 3T (B) gH (D) 3 & FrE T
51. Which gauze cannula is used for blood transfusion ?
(A) 16G-gray colour (B) 18G-green colour
(C) 20G-pink colour (D) 14G-orange colour
TRATEI o ToTT fepd TITST Shefett o1 ST e & 2
(A) 16G — g&R T (B) 18G-gu W
(C) 20G —T[eTTst T (D) 14G —T@f @
52. The bluish discoloration of the cervix, vagina that is observed as early as 6-8
weeks after conception is called
(A) Chadwick sign (B) Osiander sign
(C) Homans signs (D) None of these
e, N ol FeATH HATAUH S T % 6-8 HHIE STe Jeelliehd BT &, Shaelidl & —
(A) Jefm g (B) sifmmestfag () smwfag (D) s @ =18 A4
53. Which is the primary assessment done when patients BP fall during labor ?
(A) Assess vital signs of client.
(B) Assess the weight of client.
(C) Assess the blood pressure of client.
(D) Both (A) and (B)
TS JH % G0 B 1 BP far @ @ i | wmerfiek s1meher fohm Srar & 2
(A) Tt o et ohdl 1 3hed (B) T o 9 Hehdl ol SATehai
(C) Tft o WHaTY Hobdl T AR (D) (A) 3R (B) gl
54. Number of teeth in 3 year old child is
(A) 10 temporary teeth (B) 20 temporary teeth
(C) 12 temporary teeth (D) 16 temporary teeth
3 affa st | il ohl T 7 —
(A) 10 &I gl (B) 20 3=urf gia
(C) 12 TErit gfd (D) 16 3=Arh gla
Code No. : C-733/2021/Series-A 12

https://snowstudy.in



5S.

56.

57.

58.

59.

60.

Staff Nurse 892 Post Code

Which of the following are characteristic feature of malnutrition ?
(A) Under nutrition, micronutrient deficiency, overweight

(B) Protein deficiency

(C) Kwashiorkor and stunting

(D) Weight loss and vomiting

=1 o & o puwor % =it deur g 7

(A) 3T TINUT, F&H ISh—qcdl hl hHl, HTTHR
(B) W <t st

(C) FTNSAITH 3T wgferepm

(D) oS HH} 3R I0

Which of the following are the causes of delirium ?

(A) Brain tumour (B) Head trauma
(C) Alcohol consumption (D) All of these
1 o O 1 O 371G o BRI E 7

(A) ofeass 31gg (B) fmatfmem  (C) sw@3wdm (D) I8 &t

The side effects of Tri-cyclic antidepressants (TCA) drugs are

(A) Dry mouth (B) Blurred Vision E5E
(C) Constipation (D) All of these olk
fr-=fore STy ShwfE & gomE § 2

(A) gade  (B) ducligle  (C) we (D) FE @

National Malaria Eradication Programme was launched in which year ?

TR Ao 3gete sy fohe o o wreey fopan o 7

(A) 1953 (B) 1958 (C) 1970 (D) 2005
As per RCH first referral unit is
(A) District hospital (B) Community health center
(C) Primary health center (D) Sub-centre
RCH % 3{HR 920 16T 3518 8 —
INBESIEE (B) HTETRI e &g
(C) Ttk Ty g (D) 39
Other name of collapsing pulse is
(A) Thread pulse (B) Water-hammer pulse
(C) Bounding pulse (D) Pulse deficit
foareft ATt 1 ST A B —
(A) &for T (B) dTeX-3HT ATl
(C) et et (D) el g
13 Code No. : C-733/2021/Series-A
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61. Bandage indicated in collar bone fracture is

(A) Capline (B) Spiral
(C) Figure of eight (D) Splint
FHUSTE TN | Ffad T8t 8

(A) HUATSH (B) dff= (C) 373 3l 3BT (D) W=

62. 1 ounce is equal to
1 3ffe 35k S B —
(A) 15ml (B) 25ml (C) 30ml (D) 40 ml

63. Syphilis infection is caused by
(A) Virus (B) Fungus (C) Spirochete (D) Protozoa
Taftpfora Tshmor 3aeh grRT H1iGd B &

(A) fawm (B) o (C) Tglehie (D) Werssm

64. Measurement of arterial blood gas shows pH 7.2, PaCO,, 70 mmHg, HCO;,
27 mmol/L and PaO, 59 mmHg. Interpret this ?
(A) Respiratory acidosis (B) Respiratory alkalosis
(C) Metabolic acidosis (D) Metabolic alkalosis
gua WA 1™ pH 7.2, PaCO,, 70 mmHg, HCO;, 27 mmol/L 3R PaO,

59 mmHg ¥1TaT & | 398 ienfyd Hifs |

(A) TG A=A (B) 994 &ehdl
(C) U=l 37T (D) IuTa=rlt &Rkl
65. Which of the following is the warning sign post renal transplantation ?
(A) Decreased urine output (B) Increased urine output
(C) Pale colour urine (D) Both (A) and (B)
1§ | M 1 99 o FTaRIdUT ShT <dTe] Hehd & 7
(A) = g3 4 fm (B) afia gz fiw
(C) et 1 =t 3 (D) (A) 3T (B) Gl
66. All are the cardinal sign of Pre-Eclampsia, except
(A) Proteinuria (B) Increased blood pressure
(C) Edema (D) Weight loss
Tft repTTEIeh % YHE Hehd 8, e
(A) TEEg (B) affidw@eE (C) e (D) o T St
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Which of the following oral contraceptive pills is an emergency
contraceptive method ?

(A) Chhaya OCP (B) Unwanted 72(C) Saheli OCP (D) All of these
= 3fiter mifeRieres Mifert o | S € sttt TR Tgia g

(A) BETOCP (B) 3Mdiks72 (C) Tt OCP (D) ¥g@eft

According to hospital’s protocol during emergency situation “code : pink™ is
used for which condition ?

(A) Infant and child abduction (B) Disastrous situation

(C) Bomb threat nearby (D) Fire in hospital

JTETATA RIS oh STTHR SATTAehTetE TRfeIfd o e “whie : e form ferfa
< foTe gt Bt @ 2

(A) 319 wa s STaET (B) et uffeufa

(C) Trehe sm 6t 3m3TeRt (D) 3TEIdTA § 3TAT

The infant’s weight becomes triple from birth weight in
(A) 6 months  (B) 1 year (C) 3years (D) None of these
T313] =T ST S o <1 1 < T[T 1 91T ©

(A) 6HEH (B) la§d (C) 3999 (D) 3T | g &l

Parkinson’s disease 1is characterized by deficiency of

neurotransmitter.

(A) Acetylcholine (B) Dopamine 0
(C) Serotonin (D) GABA e
b T g ) & i e T |

(A) THICEAHIGH (B) ST (C) i (D) GABA

Which antipsychotic medications cause amenorrhea ?
(A) Paroxetine (B) Haloperidol (C) Sertraline (D) Citalopram
% € toiErrehifes fafehean sHTda shiita st g ?

(A) Wi (B) gaudE (C) gdeliA (D) Hreretam

Bagassosis is caused by inhalation of

(A) Sugarcane dust (B) Cotton dust
(C) Jute dust (D) Coal dust
o 373G o HRUT STTEIE HId BT & |
(A) T (B) WEAYT  (C) U (D) el e
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73.  Which is the best test to detect iron deficiency in a client ?

(A) Ferrous sulphate (B) Serum ferritin

(C) Serum iron (D) Hemoglobin

TS | oiig ot St b1 It oI o 39 ThEu R | R 7

(A) F@Oehe (B) W ®ifem (C) ffwamm (D) gwrafsd
74. Amino acid deficient in wheat is

(A) Leucine (B) Methionine (C) Lysine (D) Cystine

g # 31quf anfi Tl B —

(A) == (B) WUE3IHHA  (C) A€ (D) TR
75. 5% dextrose in water is solution.

(A) Hypotonic (B) Isotonic (C) Colloidal (D) Hypertonic

A H 5% SIS IESEERS

(A) BEURIME  (B) JMsERIME (C) wHidigs! (D) BEWREIH
76. Position given to patient during sigmoidoscopy is

(A) Supine (B) Prone (C) Lithotomy (D) Left Lateral

frigErenid) o S 7S i < ST el feufa 2

(A) Toa (B) U@ (C) fauwedt (D) sm™fuwdE
77. Component of RCH II include all except

(A) Emergency obstetric care (B) Essential obstetric care

(C) Family planning (D) Strengthening of referral system

RCH 11  =es § gafi wfyet &, foem

(A) ITUTASRICA JTeferh @It (B) Afemd yrdfass @y

(C) ufEr f=rsm (D) 1% foren b1 gued s
78. Main intervention in primordial prevention is

(A) Health Education (B) Immunization

(C) Early Diagnosis (D) Early Screening

e THamr § g Aoy § —

(A) W frem (B) ufaefishtr (C) IR fem (D) IR fderor
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https://snowstudy.in



79.

80.

81.

82.

Staff Nurse 892 Post Code

The Panchayati Raj consists of 3 tier structure :

(A) Panchayat, Panchayat Samiti, Municipal Area Committee
(B) Panchayat, Panchayat Samiti, Zila Parishad

(C) Panchayat, Tehsils, Blocks

(D) Panchayat, Blocks, Municipal Board

I TS - S S § —

(A) UETId, =T Hd, TRATCehT & Fiifa

(B) U=Td, U=Td |, e aftg

(C) U=d, dgdid, WU

(D) USETId, WUS, TRUTfTehT &I

Pulse Polio Immunization covers :

(A) 0-5 yr children (B) 0-1 yr children

(C) 1-5yrchildren (D) 0-2 yr children

TeH IToT FTReToT STaid shidl 8 —

(A) 0-5a9s= (B) O-l9¥s= (C) 1-5a¥s= (D) 0-2a9&=

After the closure ductus arteriosus is known

(A) Ligamentous arteriosum (B) Ligamentous venosum
(C) Fossaovalis (D) Bregma

A ATATEH 55 B o T2 JH STt 8

(A) forma=eg andfiarem (B) fermi=w fomrm %
(C) wrm Fafem (D) S =

Asymmetric Moro’s Reflex at birth is indicative of :
(A) Hypoxic ischemic encephalopathy

(B) Brain damage

(C) Erb’s palsy

(D) Kernicterus

T oh T FEHA A NG $EehT e 8 —
(A) EETifREeh svafireh wfahanaefl  (B) wfwrss afd
(C) 376 g (D) THfETshHaSTTashHT
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83. The connection between umbilical vein and inferior vena cava in fetal life is
known
(A) Umbilical artery (B) Ductus venosus
(C) Ductus arteriosus (D) Pulmonary artery
YOT < Sta H 11 BT 3TR e w6 st vy shgertdn & ¢
(A) 0T gt (B) s%eH foiam
(C) =%RH AITTHE (D) HHHT gut
84. Fall in hematocrit value observed during pregnancy is because of
(A) Hemodilution (B) Hemoconcentration
(C) Blood loss (D) Due to progesterone hormone
TGN o SR STTcliehd THIVHETH T H ST T R0 8 —
(A) TR Tl (B) Tod ATl
(C) & g (D) JISRA B % HROT
85. A patient’s blood pressure suddenly drops, what is expected from on duty
nursing officer that which drug will doctor order that is to be administered
immediately ?
(A) Dopamine (B) NORAD
(C) Both (A) and (B) (D) None of these
Teh TS T A=Y STHeh TR 7T &, ShIERd T SRR & T AT <hl STt
2 Top glaret o ot 3TufYr dehIel ¢ o1 3TCT &1 7
(A) ST (B) NORAD
(C) (A) 3R (B) g (D) 37H 9 IS &l
86. According to psychosocial theory of Erikson, which behaviour is seen in
toddler age group ?
(A) Autonomy vs. Shame (B) Generativity vs. Stagnation
(C) Ego integrity vs. Despair (D) Trust vs. Mistrust
TR o HRIETATRRR RIgT STER s 377 §HE H i+ |1 e fe@rs an g ?
(A) A=Al -9 IRA (B) 3IcdTgehal s THfSsharan
(C) 378 3rgusdr s T3 (D) Toreamd s favard
87. CAGE questionnaire is used for which of the following behavioural disorders ?
(A) Alcohol screening (B) Heroine screening
(C) Opioid screening (D) Naloxone screening
7 o & fore SaTaETies foshR % Tt CAGE SeATaeft w1 ST gia 8 7
(A) Ueshleret fesfm (B) wU fenfm
(C) 3ifusTse fehfm (D) SreEH feRrHT
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A patient suddenly develops respiratory difficulties such as dyspnea, what is
the first priority of the nursing officer ?

(A) Raise the head of bed for fowler position and administer oxygen.

(B) Only administer oxygen.

(C) Check oxygen saturation of client.

(D) Give semi fowlers position.

Teh TS bl S Temafan St vaul smn fassfad ardl 8, i sttt 6
Tyfireh slrar I 8 7

(A) ISR feufd o foru geim o 3fid =i I8MT 37 srvereist & |

(B) haet TTaRIST T |

(C) TSI 6t SATeRISH Feal ST |

(D) ef-wreer fefa < |

What is the colostomy size for a client whose stoma diameter is of 27 mm size ?
Teh IS ToTEent 81 918 27 mm T8 1 8, o [T shicT et bl |1t fehaHT B 2
(A) 20 mm (B) 25 mm (C) 27 mm (D) 30 mm

Cessation of breathing for 20 seconds is known as

(A) Respiratory arrest (B) RDS
(C) Apnea (D) Transient tachypnea
20 FHUE o TTU T8 ol Tt STHT ST 8 — —
(A) 3FEH g (B) RDS Ol
(C) 3raE (D) AT ereh TaTEi&TSal
All of the following are causes of Neonatal Jaundice, except
(A) Sickle cell anemia (B) Thalassemia
(C) G6PD deficiency (D) Rh Incompatibility
Fr= vt asa diferan < o 8, e
(A) T HIfITehT IR (B) deArEifirn
(C) G6PD 3teuar (D) Rh 3@l
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92. What is the best time of insertion of Intra Uterine Contraceptive Devices
(IUCD) ?
(A) Starting of menstrual cycle
(B) Mid cycle insertion
(C) After completion of menstrual cycle
(D) None of these
AT THAEes 3Tt (JUCD) Fasm s sfaa ama s an g
(A) 3ATee =5 1 T (B) TEH =gk I fHayH
(C) ATRIa =sh < qUId o U= (D) T 8 HIE G
93. Normal position of uterus is
(A) Anteversion and Antereflexion (B) Dorsiversion and Dorsiflexion
(C) Antiversion and Dorsiflexion (D) Dorsiversion and Antiflexion
TS i wTT feafa | —
(A) Uedsid 3R T iatfag 3t (B) erefes 3R siEfwifaastia
(C) asi 3R SrEffreifaasti (D) Srdffasi 3 WEutfaastia
94. All of the following are antiplatelet medications, except :
(A) Aspirin (B) Clopidogrel (C) Cangrelor (D) Canglob
T wyft v -wieaie fafercn 8, foem
(A) tferta (B) wAMiEld  (C) hUAR (D) KT
95. Which position is given to a client by nursing officer who has been brought
from OT after craniotomy surgery ?
(A) Low fowlers position with head elevated at a 30 degree angle.
(B) Semi fowlers position with head elevated at a 45 degree angle.
(C) High fowlers position with head elevated at a 90 degree angle.
(D) All of these
ST Tl & a1¢ OT | ¢ T 7S ot ARAT TRt gra i &t feufa <
STt 8 2
(A) 30 feft spior Seenfua faw & anr frm wizer feafa
(B) 45 feift shivr Seenfua faw & wner sref-wisen feufa
(C) 90 Tt shivr Icenfua faw & ot 3= wiser feufa
(D) 3IWIh a4t
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Which of the following lead to greenish discoloration of the amniotic fluid ?
(A) Lanugo (B) Hydramnios (C) Vernix (D) Meconium
o= o 9 fopereh T o9 e T g STUEUH BT R 7

(A) TR\ (B) 3fd-3edieshar (C) afHem (D) Siraferst

In a 3 year old child, most common cause of hepatitis B is
(A) Pin Prick (B) Saliva exchange
(C) Perinatal (D) Blood transfusion
T 3 I o= | fgtersfed-B & Halfash 37H SR & —

(A) Tgae (B) @Rfafm@  (C) y&eee= (D) WW-39H

All are characteristic of neonatal asphyxia except
(A) Hypoxia (B) Hypocapnia (C) Acidosis (D) Hypoperfusion
gt FersTTa TIEUY & & 8, fHew

(A) 3T - AT (B) 3Tcqehicrar

(C) Sreraadr (D) 3reu-fasH

What is the drug of choice for alcohol withdrawal symptoms ?
(A) Chlordiazepoxide (B) Labetolol

(C) Metoclopramide (D) Digoxin

UGhIgIcl TATER A& <6 foTu uig <ht 319l @ —

(A) FARSHSAIFIES (B) e %
(C) HAAmTES (D) feam
The following are the essential requirements for efficient haemostasis, except :
(A) Intrinsic factor (B) Clotting factor

(C) Calcium (D) Vitamin

8T TR o Toru o o} 31fam srrasaehd e 8, faem
(A) IATIFNH (B) Thed dRb  (C) hicom (D) feerfim

Cell was discovered by

(A) Swanson (B) Leeuwen Hoek
(C) Robert Hooke (D) Robert Brown
ShITNTeRT 6t WIS fohea 6t 2

(A) e (B) oM@  (C) Ui &h (D) U« oA

21 Code No. : C-733/2021/Series-A

https://snowstudy.in



102.

103.

104.

10S.
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107.

Glyoxisomes occur in

(A) Leaf cells (B)
(C) Roots (D)
TR STHEEE 3eq1 Biell 8

(A) Tft =hif3TeRT (B)
(C) 7 (D)
The simplest amino acid is

(A) Glycine (B) Lysine ©)
AT AT 37T 8

(A) TAEEHH (B) s (C)
Telomerase is an enzyme which is

(A) Simple protein (B)
(C) Ribonucleoprotein (D)
AT T TITEH & 1 & —

(A) & IEH (B)
(C) TRERIFASIEN (D)

Synaptonemal complex is formed during
(A) Leptotene (B) Pachytene (C)

Taafme sivgcres fafda g @ sees aue
(A) AL (B) U (©)

Submucosa is the thickest in

(A) Rectum (B) Intestine ©)

I IET T HIeT BT & —

(A) FamEH  (B) AH (©)

Rh factor can produce

(A) AIDS (B)

(C) Turner’s syndrome (D)

Rh et 3799 1 Tehall 2

(A) TeEH (B)

(€) T faugm & (D)
Code No. : C-733/2021/Series-A 22
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Fatty seeds
Meristematic cells

ELIREIE
IEEERIREAREQINED]

Tyrosine (D) Aspartic acid

TEHA (D) THAT(EH TrHrE

RNA
Repetitive DNA

RNA

YrEdl DNA

Diakinesis (D) Zygotene

SHTRREAE (D) SN

Stomach (D) Oesophagus

IMEEE (D) T A

Erythroblastosis foetalis
Sickle cell anaemia

U ST EINEA TS LRIl
[HECAIMEIRCICT R}
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Left auricle receives pure blood from
(A) Pulmonary veins
(C) Superior vena cava

ST 31fetg I[g T ITH Hidl &
(A) PrRERT (B) Popd
Creatinine is not produced by

(A) Children
(C) Fasting persons

fopufefr Seaa 48 BT 2
(A) =i gl
(C) 39T A dTed Sk gRT

Acetabulum is part of

(B)
(D)

(®

(B)
(D)

(B)
(D)

(A) Pelvic girdle (B) Pectoral girdle(C)

ATt SHeh! YT 3
(A) AfTdEer  (B) 9af o@ern

Grey matter is composed of
(A) Ependymal cells

(C) Nerve fibres

U X (YR 57) SHE o1 BT &
(A) T HIfIThT

(C) abreprdg

Homoeostatis is maintained by
(A) Cerebellum

(C) Diencephalon

ufeafd §a1g Wt STt 3

(A) AT (B) YHRETSH

Visual purple is found in
(A) Cornea (B) Cones
99 -1 Alfed T ATl &

(A) e d  (B) W H

23

©)

(B)
(D)

(B)
(D)

(B)
(D)

(©)

©)

©

Staff Nurse 892 Post Code

Pulmonary artery
Inferior vena cava
St wEIvW (D) = wEim
Pregnant women
Healthy males
Tt wigen g
Y I g
Fore arm (D) Upper arm
31T ST (D) Ui YT
Nerve cells
Nissl granules
GIEECAINED
gt sivTent EYE
EI.!

Cerebrum
Medulla oblongata
F<HfeTs®: (D) B Afsanter
Rods (D) Retina
JARH (D) 3PUeAH
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Islets of Langerhans are present in

(A) Brain (B) Stomach
(A) ofegssd (B) IMWEH

Ovulation is stimulated by

(A) LH (B) FSH
FUSIERT 35 G SEIUd &Il &
(A) LH (B) FSH

Virus consists of

(A) Protein

(©) Prptein and RNA
IRRE | BT 8

(A) &=

(C) 9IEH 3T RNA

Staff Nurse 892 Post Code

(C) Ovary (D) Pancreas
(C) 3veREE (D) AR H
(C) Estrogen (D) Progesterone
(C) TEIH (D) SIS
(B) Nucleic acid

Protein and Nucleic acid

(D)

(B) =feerh tftrs
(D) WEH 3R fereres Tl

Bacteria bearing flagella all over body are called

(A) Peritrichous (B) Atrichous

(C) Monotrichous (D) Cephalotrichous
geguf IR TS aeh S Haetrd 8

(A) UfgshE  (B) TgEHE (C) uHigERE (D) Fbetigresh
Amoeba is

(A) Herbivorous (B) Carnivorous

(C) Sanguivorous (D) Omnivorous

e 2 -

(A) meRvieft (B) wEwef (C) ®RAERE (D) wdwaf
Litmus is got naturally from

(A) Algae (B) Fungi (C) Lichens (D) Protozoans
fTeH™ Tehiieh &9 § I &1 &

(A) & & (B) wa%d (C) @Eh1d (D) WRSNsHd

Blood proteins connected with antibodies are

(A) Albumins
(C) Gamma globulins

AN § IR T N
(A) T (B) p-relrgfer

Code No. : C-733/2021/Series-A
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As per census 2011, literacy rate wise rank of H.P. in India is

SFITOMT 201 1 % 3HR, TRd H 3.9, 3T A1eRar gl & STHR b 8§ —

(A) 8 B) 9 (©) 10 (D) 11
In H.P. Pangwala and Swangla are

(A) Scheduled castes (B) Scheduled tribes

(C) Both (A) and (B) (D) None of these

f.3. o JrTeTer 3R ST &

(A) ggtIasd (B) TR S

(C) (A) 3 (B) g (D) T & g 7

Which is the largest natural lake of H.P. ?
(A) Gobind Sagar (B) Rewalsar  (C) Prashar (D) None of these

f&.u. 6 god 9t wehfash AT A T B 7
(A) Mfs<arr  (B) fEme® (C) TRR (D) 394 g Hig &l

Narsingh Tibba is located in which district of H.P. ?

(A) Chamba (B) Kullu (C) Mandi (D) Kangra
Tt feean fe v, o fopm o feera 2 7
(A) == (B) e (C) e (D) =il

Kareri lake 1s located in which district of H.P. ?

(A) Kangra (B) Sirmour (C) Solan (D) Shimla
w2t fe.w. & fope T 8 fua B 2

(A) IS (B) TR (C) dreH (D) e

ESE
Jijed festival is celebrated in which district of H.P. ? B
(A) Kinnaur (B) Laha}ul—Spiti (C) Bilaspur (D) Una
foig 3caa fe.u. & fepa et A am ST 2 2
(A) TR (B) WREA-wifd (C) feremEge (D) F
Tsechsu fair is celebrated in which district of H.P. ?
(A) Hamirpur (B) Sirmour (C) Mandi (D) Lahaul-Spiti
=g oot f2. 9. & fopa et d wamn Sran @ 7
(A) THRE (B) f&ER (C) #HuEt (D) wEa-wfifd
Kiarda Doon Valley is located in which district of H.P. ?
(A) Solan (B) Sirmour (C) Shimla (D) Kinnaur

fopamer-g7 ardt .3, & fopm o 6 feera 2
(A) e (B) TR (C) Tamen (D) fr=iR
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Which is the largest wildlife sanctuary of H.P. ?
(A) Shilli (B) Renuka (C) Kugti (D) Kibber
&9, %1 =8 T =eE SR A AT g ?

(A) Treet (B) ! (C) Fr (D) ferest

Bushahr princely state was founded by
(A) Durga Singh (B) Gobind Pal (C) Pradhyuman (D) Karan Chand
e e ot AT fohem & ?

(A) giteE (B) Mfsgwa  (C) W= (D) =g

The capital of Jaswan princely state was at
(A) Rajpura (B) Hatkoti (C) Halog (D) Haripur
STEETE fEmEd sht e off —

(A) T&gQ (B) ®EhI (C) B (D) BRYE

132. Raghupurgarh fort is located in which district of H.P. ?
(A) Mandi (B) Una (C) Kullu (D) Solan
TquTe fohet f&.9. = fopar oot o fevra 8 9
(A) wUE (B) 3 (C) Feel, (D) HieH
133. Which personality of H.P. was popularly called ‘Kaviraj’ ?
(A) Pt. Padam Dev (B) Dr.Y.S. Parmar
(C) General Zorawar Singh (D) Krishna Nand Swami
2. 9. = fora srlhca =l ARl &9 & it g1 STar o1 ?
(A) U.UgHcd (B) . 9.Td. WHR
(C) SR SR g (D) FHIH ETH
134. Himachal Road Transport Corporation came into existence in which year ?
fEHTaet ggeh Iiaed - forg o S1fedea § 3 ?
(A) 1971 (B) 1972 (©) 1973 (D) 1974
135. Chitkara University is located at which place in H.P. ?
(A) Palampur (B) Waknaghat (C) Kallujhanda (D) Bathu
Faraepr fovafaeme™ fgu. d frmwmm fa g 7
(A) TETHR (B) dTHATETE (C) HeeEvel (D) s
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What was the theme of the India International Science Festival 2020 ?
(A) Science for Self-Reliant India and Global welfare

(B) Aatma Nirbhar Vigyanika

(C) Science and Covid-19

(D) Bharat Vigyan

ST SUCTTHS |TEH hiteaat 2020 6t ofim o= off ?
(A) HT3H R Heh- AR 30gar uue Teiaet deThal
(B) SATCHIR Smfeh

(C) HTEH TUg Hifde-19

(D) WRa fagm

The National Green Tribunal has recently directed which state to prepare an
action plan for 14 proposed elephant corridors ?

(A) Tamil Nadu (B) Kerala (C) Odisha (D) Maharashtra
T gitd 3rftrentor 3 gt 1 1 forl U= Bt 14 Ttferd greft el & fore uemm

T daR & o fore fefama fran @ 2
(A) dfeTg (B) (C) anfem (D) WERIY

Which is the knowledge partner of Microsoft for the India edition of the
Imagine Cup 2021 ?

(A) National Skill Development Corporation ESE
(B) NITI Aayog ik
(C) myGov

(D) Doordarshan
U T 2021 o YT FEHUUT o {oTT HTZSRITTFE 1 ictsl YITER SH & ?
(A) T hieret ferehrr fmmm B) e s

(C) myGov (D) e

Giant Metre-wave Radio Telescope, which was in news recently, is located
in which Indian state ?

(A) H.P. (B) U.P. (C) Goa (D) Maharashtra
I Hiet-d9 AT efi=hid, ST 817 & ° TR § o7, fhe YRdT g §
feme ?

(A) . (B) ZT. (C) T (D) WEWTY
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Which is different from the rest ?

A AT AR ?
(A) 21 (B) 23 (C) 29 (D) 31

In a certain code, ‘STOVE’ is written as ‘FNBLK’, then how will ‘VOTES’
be written in the same code ?

fereht ffeera e # “STOVE’ &1 “FNBLK’ fet@1 STl 7, @1 361 e # “VOTES’
1 hdl for@r s ?
(A) FLKBN  (B) LBNKF  (C) LKNBF (D) LNBKF

Which is a wrong term in the number series ?

TEAT @ H % |1 98 7TeAd & ¢

24,27,31, 33,36

(A) 24 (B) 27 ©) 31 (D) 33

The positions of the first and the sixth digit in the number 5109238674 are
interchanged. Similarly, the positions of the second and the seventh digit are
interchanged and so on. Which of the following will be the third digit from
the right end after the rearrangement ?

T 5109238674 H gt 3T &3 31k 1 fRufer 31ma@ § weeht 9t & | 52 wehi
GEN AR AT 37 198 § 96t ATd & 3R g6 TR 30 ot | 369 q7: a1
a1 foret & & wia @1 grRff 3T & e 37 g

(A) 9 (B) 0 ) 3 (D) 6

Which Veda is a collection of melodies ?

(A) Rigveda (B) Samaveda (C) Yajurveda (D) Atharvaveda
I G ¢ Tl I ETE 7 7

(A) T (B) @mg (C) ¥ITa (D) 3FrefIg
Pallava dynasty was founded by

(A) Simhavishnu (B) Pulakesin I

(C) Vishnu Vardhan (D) Vijaysena

ToeTdl ST Shi TTHT fohe 6T 7

(A) Tagfos (B) U&hBH -1 (C) fawpads (D) fosmem

146. Which was the first Delhi Sultan to have a permanent army ?
(A) Alauddin Khilji (B) Balban
(C) Firoz Shah Tughlaq (D) Ibrahim Lodhi
TR BT ATeT Yo feeelt Fea ik AT 2
(A) IeREN Rgerstt (B) &&teA
(ORI ENIUSED (D) M I
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Which of the following lived in the court of Krishnadeva Rai ?

(A) Ramdas (B) Ramanand
(C) Vallabhacharya (D) Madhavacharya
71 5 & o FHMCT T o SR § & o7 ?

(A) THEH™ (B) THF= (C) Teay=™d (D) wHieam=m

Pitts India Act was passed in which year ?

fiew sfogan uee fora o o rfed femam 2

(A) 1784 (B) 1791 (C) 1805 (D) 1817
Ramakrishna Mission was established by

(A) Swami Vivekananda (B) Dayanand Saraswati

(C) Raja Rammohan Roy (D) Ram Krishna Paramhansa
TS fier <t ToreT fepa <t 2

(A) T feaepr— (B) ST TL&dt i
Nautanki is a folk dance of which Indian state ?

(A) H.P. (B) U.P. (C) M.P. (D) Maharashtra
el ford T T T AT B 7

(A) T8y (B) 3.9. (C) =3 (D) HERIY
Which planet is called Morning Star ?

(A) Venus (B) Mars (C) Jupiter (D) Saturn
SIF I1 Ug W 1 a1 haelldl & 7

(A) Th (B) WA (C) Fewid (D) =M

The phenomenon of temperature inversion take place in which layer of
Earth’s atmosphere ?

(A) Ionosphere (B) Troposphere (C) Stratosphere (D) Mesosphere
AT i shY et geeft & SrgHveet i fohd T # Bt R 2

(A) IAFWHIsA (B) ATTHUSH (C) gHAHUSA (D) HEIHUSA

Veld is a grassland of which country ?
(A) Australia (B) New Zealand (C) Hungary (D) South Africa
Jos fra e A H AGHE 7

(A) FRfRT  (B) =Siavs () &l (D) eferor 3rshvent

29 Code No. : C-733/2021/Series-A

https://snowstudy.in



Staff Nurse 892 Post Code

154. Which is a warm ocean current ?

(A) Californian current (B) Oyashio current

(C) Labrador current (D) Kuroshio current

& o T T T g R

(A) hefl®I=H g (B) 3TRmsfian g

(C) WISITER 9T (D) FHU=fA g
155. Badrinath is located along which river ?

(A) Ganga (B) Kshipra (C) Saryu (D) Alaknanda

Tty fope 7 < form feua € 7

(A) T (B) Tesm (C) ¥ (D) TR
156. Khetri Singhana belt is famous for which mineral ?

(A) Iron (B) Manganese (C) Chromite (D) Copper

gt faem g form @i & e ufag 2 7

(A) ARRA (B) TS (C) 3hiHTEE (D) W
157. Which is a tidal port ?

(A) Mumbai (B) Marmagao (C) Paradeep (D) Kandla

HH 1 ST SCUME & 7

(A) =% (B) Wi (C) UNIEH (D) HTUSe
158. Which schedule of Indian Constitution deals with languages ?

(A) First (B) Third (C) Fifth (D) Eighth

WA Tferm <t i it Srgee wiwied 3 a=fRa ? 7

(A) vgeit (B) el (C) wi=elf (D) ATl
159. Who is the guardian of public purse ?

(A) Finance Commission (B) President

(C) Finance Minister (D) C.AG.

GTeT{-eh T o1 TLETH hi & 7

(A) fasmam (B) ugufd (C) femwsh (D) &1 (CAG)
160. Brass is an alloy of

(A) Copper and Zinc (B) Copper and Tin

(C) Aluminium and Magnesium (D) None of these

daet saeh! fsreng 8

(A) R R S (B) W 3R I

(C) vfrfrem 3tk Afifirrm (D) T8 & HI3 T
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Which is used for correcting hypermetropia ?
(A) Concave lens(B) Convex lens (C) Bifocal lens (D)
BTSURHSITRT o G < foTe fomereht S feperm Sran & 2

None of these

(A) JFFaATE  (B) IAAE (C) fgmpdiei@ (D) 378 O +Is &l
Pellagra is caused by deficiency of which vitamins ?
(A) Vitamin A (B) Vitamin B; (C) Vitamin B}, (D) Vitamin C
Yo fope feerfim S it A g ® 7
(A) fefm A B) fea@B; () feaf@ B, (D) feefiaC
Antonym of ‘Dainty’ is
(A) Splendid (B) Aggressive (C) Vigorous (D) Towering
Correctly spelt word is
(A) Infellible (B) Infalible (C) Infalibal (D) Infallible
I absolve you all blames.
(A) with (B) for (C) of (D) from
Meaning of the idiom ‘To turn the cover’ is
(A) To take a new way of life
(B) To work hard
(C) To pass the crises E 2
(D) To hide the reality
g T Y -fo=eg 8
(A) T+ 31 (B) U+ 31 (C) U+ 31 (D) I+ 37
‘FHE’ | qHE 8
(A) wgslifs (B) &= (C) gy (D) 3TeTE
G 1 HETaR 1 374 B
(A) T H G (B) AT Ueh ST
(C) | T 37 < (D) =TS I
Theterar” ® 3uwrt 8
(A) e (B) @« (C) & (D) %
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